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Legenda:

Krzywa wypukla
R=350.000m; L= 35.468m;
iwej.= 8.85%; i wyji.=-1.28%; Ai=-10.13%;
Hp=138.327; KMp= 0+170.33
Hk=139.669; KMk= 0+205.80

Krzywa wypukla
R=250.000m; L= 23.040m;
iwej.=3.35%; i wyj.= -5.86%; Ai= -9.22%;
Hp=139.365; KMp= 0+096.38
Hk=139.076; KMk= 0+119.42

teren istniejacy

142.00

Krzywa wypukla
R=250.000m; L= 19.102m;
iwej.=7.71%; i wyj.= 0.07%; Ai= -7.64%;
Hp= 137.888; KMp= 0+030.90
Hk=138.632; KMk= 0+050.00

Krzywa wklgsta
R=500.0001 6.405m;
iwej.=0.07%; iw) .35%; Ai= 3.28%;
Hp=138.644; KMp= 0+066.85
Hk=138.925; KMk= 0+083.26

teren projektowany

141.00

Rzedna zmiany nachylenia

Zmiana nachylenia niwelety km: 0+270.26

Nachylenie stycznej wejsciowej

w/s = 297.0 / 1500.0
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